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~u�UåY².K8Xe:

===���KKK>>> �½�ê n ≥ 100,��r n, n+ 1, · · · , 2n¥z�ê�3ØÓ�

k¡þ,,�òù n + 1Ük¡�Ï^S¿©¤üæ.Áy: ��k�æ¥�¹

üÜk¡,¦�ùüÜk¡þ�ê�Ú´����²�ê.

ÏL©Û,·�uy,Ù¥�7�¦“n ≥ 100”,�`z�“n ≥ 99”,� n = 98

�(ØØ¤á.�Ò´`,K8�U¤Xe/ª:

===UUU???KKK>>> Áy: é�½�ê n ≥ 99,ò n + 1���ê n, n + 1, · · · , 2n

?¿©¤ü|,7k�|�¹ü�ê,ÙÚ´��²�ê.� n = 98�(ØØ¤

á.

===KKKaaa>>>l8Iw,�Káu“�35”¯K.�y²k�|�¹ü�ê,ä

kA½�5�: ÙÚ´��²�ê.

ùk²w�ÄT�n�µ,�E“A½5�”ÄT=�: Ó�ÄT¥�?Ûü

�ê�Ú�²�ê.

�c[��,¯Kv@o{ü,Ï�K¥“ÄT”��ê´(½�: n+ 1�ê

?¿©¤üæ,z�|���ÄT.

dd����«�Ýg�: �I3«m [n, 2n]¥é� 3��� a, b, c,¦Ù

¥?Ûü�ê�Ú�²�ê.

XÛé�ù�� 3�ê? du n´Ø(½�,�lA~m©,Ïé5Æ.

===������ggg���>>>�UüÑ: é� 3�ê,Ù¥?Û 2�ê�Ú�²�ê.

?¾FÏ: 2021-07-25.
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===ïïïÄÄÄAAA~~~>>>� n = 99,K�A«m� [99, 198].

d«mk 100�ê,E,éE,.

¦+K¥�½ n ≥ 99,�¿ØU{�·�é���“n”?1ïÄ,l¥uy

5Æ,�ªwÑ“n ≥ 99”�¢S¿Â.

��*å�,^:L«ê,XJüê�Ú�²�ê,KòéA�:ë>,l


¯KC¤Ïé�� 3��.

===������ëëëêêê>>> �g�	g,ê 0, 1, 2, 3, · · · �¤�ã,uyXe��


>:

12 : 0 ∼ 1,

22 : 0 ∼ 4, 1 ∼ 3,

32 : 0 ∼ 9, 1 ∼ 8, 2 ∼ 7, 3 ∼ 6, 4 ∼ 5,

42 : 0 ∼ 16, 1 ∼ 15, 2 ∼ 14, 3 ∼ 13, 4 ∼ 12,

52 : 0 ∼ 25, 1 ∼ 24, 2 ∼ 23, 3 ∼ 22, 4 ∼ 21, 5 ∼ 20, 6 ∼ 19, 7 ∼ 18,

8 ∼ 17, 9 ∼ 16, 10 ∼ 15, 11 ∼ 14, 12 ∼ 13.

�d,uy�� 3−�: (0, 9, 16).

e��x��ã,K��8
,.

ù��kÛA:? ��w,�A:´ 3�ê��Ñ´²�ê.�ù�A:

´J±[£�: �¦?üêÚ�²�ê,K�¦?ü²�ê3Ó����|¥,

ù´éJ¢y�.

�	�¥?Ûü�ê�Ú: 0 + 9 = 32, 0 + 16 = 42, 9 + 16 = 52,uyzü

êÚ´ 3�ëY²�ê.

===AAA���[[[£££>>>��/,·�Ï"k 3−� (a, b, c),¦

a+ b = (m− 1)2, a+ c = m2, b+ c = (m+ 1)2.
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nª�\,� 2(a+ b+ c) = 3m2 + 2,¤±m�óê.-m = 2k,K

a+ b = (2k − 1)2, a+ c = 4k2, b+ c = (2k + 1)2, a+ b+ c = 6k2 + 1.

)�
a = 2k2 − 4k, b = 2k2 + 1, c = 2k2 + 4k.

===���½½½ëëëêêê>>>y3(½ k���,¦ a, b, c ∈ [n, 2n].

- 2k2 − 4k ≥ n, 2k2 + 4k ≤ 2n.

e¡y²,� n ≥ 99�(d�âuyT^��¿Â),þã'u k�Ø�ª|

k��ê).

du k�Ó�÷vü�^�,�æ^“[é�%C”üÑ:k÷vÙ¥��^

�,,�`z�÷v,��^�.

===[[[ééé���%%%CCC>>>�	÷v“2k2 + 4k ≤ 2n”��ê k,Ï"Ù¥k�� k,�

÷v 2k2 − 4k ≥ n.

N�é�ù�� k? ùg,´ k“���Ð”,���4à.

===���			444ààà>>>�����ê k,¦ k2 + 2k ≤ n,d k�“��5”,k

(k + 1)2 + 2(k + 1) > n.

·��Iy²éù��½� k,k 2k2 − 4k ≥ n.

�
|^ n < (k + 1)2 + 2(k + 1),æ^“�'� {”.

n− (2k2 − 4k) < [(k + 1)2 + 2(k + 1)]− (2k2 − 4k)

= −k2 + 8k + 3

= −(k − 4)2 + 19.

�¦ −(k − 4)2 + 19 ≤ 0,�I k ≥ 9,ùd (k + 1)2 + 2(k + 1) > n ≥ 99�y,·

K¼y.

===���EEE���~~~>>>� n = 98�,�E�g´´é{ü�,Ï� [98, 196]¥üê

�Ú��U´ 225, 256, 289, 324, 361,-ÙÚ�Êö���üê©áü�ØÓ

8Ü=�.

�äN�EL§¿Ø{ü,·��Ð��EÒÑy¦É.

�
¥y�E�5Æ,·�òz�8Ü©)�eZ��ê��¿.d	,�


¦�E{ü,F"z���ê�¦�U�,�ú�¦�U�.

===±±±{{{ÿÿÿ���>>>�{ü��ê��ê��ú�� 1,��“��”�ëYg,

êS�:

98, 99, · · · , 112 ∈ A,
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Kd²�ê 225,��

113, 114, · · · , 127 ∈ B.

Xde�,���«�E:

A = {98, 99, · · · , 112} ∪ {128, 129, · · · , 144} ∪ {162, 163, · · · , 176},

B = {113, 114, · · · , 127} ∪ {145, 146, · · · , 161} ∪ {177, 178, · · · , 196}.

�ù��Ek¦É,'X: A¥k 112 + 144 = 256��.

===UUU???>>>2}Áú�� 2 ���ê�: �“��”���ê�:

98, 100, · · · , 128 ∈ A.

Ï� 225− 98 = 127, 225− 128 = 97,¤±7k��ê�:

99, 101, · · · , 127 ∈ B.

Ó�, 256− 98 = 158, 256− 128 = 128,¤±7k��ê�:

130, 132, · · · , 158 ∈ B.

q 289− 98 = 191, 289− 128 = 161,¤±7k��ê�:

161, 163, · · · , 191 ∈ B.

�Ù¥ 161 + 163 = 182,��òS��“Ä�” 161N\ A,ù�,q7Lò

±cáu A� 128N\ B (161 + 128 = 172).

�d,

A ⊇ ({98, 100, · · · , 126} ∪ {161}).

c¡�L§ÑI��A�?U:

Ï� 225− 98 = 127, 225− 126 = 99,¤±7k��ê�:

99, 101, · · · , 127 ∈ B.

Ó�, 256− 98 = 158, 256− 126 = 130,¤±7k��ê�:

130, 132, · · · , 158 ∈ B.

q 289− 98 = 191, 289− 126 = 163,¤±7k��ê�:

163, 165, · · · , 191 ∈ B.

d	,c¡®N\ 128 ∈ B.

¤±,

B ⊇ ({99, 101, · · · , 127} ∪ {128, 130, 132, · · · , 158} ∪ {163, 165, · · · , 191}).
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===ÛÛÛÜÜÜ***ÐÐÐ>>> y3,4z���ê�¦�Uò�,1��Ã{ò�,Ï�

127 + 129 = 256.

1���\\ 160 (162ØU\\: 127+162 = 289);1n��\\ 193, 195.

dd,��Xe�E:

A = {98, 100, · · · , 126} ∪ {129, 131, · · · , 161} ∪ {162, 164, · · · , 196},

B = {99, 101, · · · , 127} ∪ {128, 130, · · · , 160} ∪ {163, 165, · · · , 195}.

¡Þu���, A, B ¥ÑvkÙÚ�²�ê�ü�ê,� n = 98�(ØØ

¤á.

===555>>>T�Ed
ø�P�ÏL>M?§�Ñ,Ad��! ±þ´·��

��&¢L§.

===###���>>>é�½���ê n(n ≥ 99),�3�����ê k,¦

k2 + 2k ≤ n < (k + 1)2 + 2(k + 1).

éù�� k,d

(k + 1)2 + 2(k + 1) > n ≥ 99,

k k ≥ 9.u´,

n− (2k2 − 4k) < [(k + 1)2 + 2(k + 1)]− (2k2 − 4k)

= −k2 + 8k + 3

= −(k − 4)2 + 19

≤ −52 + 19 < 0.

-

a = 2k2 − 4k, b = 2k2 + 1, c = 2k2 + 4k,

K a, b, c ∈ [n, 2n],�

a+ b = (2k − 1)2, a+ c = 4k2, b+ c = (2k + 1)2.

�K¿, a, b, c�©¤ 2|,7½k�|¹kÙ¥ 2�ê,ùü�ê�Ú�²�ê.

n = 98�,�~Xe:

-

A = {98, 100, · · · , 126} ∪ {129, 131, · · · , 161} ∪ {162, 164, · · · , 196},

B = {99, 101, · · · , 127} ∪ {128, 130, · · · , 160} ∪ {163, 165, · · · , 195},
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K A, B¥ÑvkÙÚ�²�ê�ü�ê.

nþ¤ã,·K¼y. �

===������>>>a�Y�u�Çc["��v,¿?�©¥Õ¦.
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